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! F17@ [ @ 7@ [ @ F17m
RERER | AERR | FEHR | AEER | AERR | ATHR
50cm 0.08 0.08 0.09 0.08 0.08 0.09
748 = FHT REH ZHEE—RER 8F26H
im 0.08 0.08 0.08 0.08 0.08 0.08
50cm 0.10 0.1 0.07 0.07 0.10 0.1
749 = FHT REH ZEHEBE_RER 8F26H
im 0.09 0.09 0.06 0.06 0.10 0.10
50cm 0.09 0.09 0.10 0.1 0.09 0.09
750 = FHT wREE =HETLRER 8H 238
im 0.08 0.08 0.10 0.10 0.09 0.09
50cm 0.10 0.10 0.10 0.10 0.09 0.10
751 =&HT REE L-kidsREE=%F 9/ 108
im 0.10 0.10 0.09 0.10 0.09 0.10
50cm 0.08 0.09 0.07 0.07 0.10 0.10
752 = FHT CELE RECELE=FHRE 8H26H
im 0.08 0.08 0.07 0.07 0.09 0.10
50cm 0.08 0.08 0.07 0.07 0.09 0.09
753 = FHT PHE =BT PR E 8H218
im 0.08 0.08 0.07 0.07 0.09 0.09
50cm 0.07 0.07 0.10 0.10 0.09 0.09
754 = FHT INEAR =TI PR/ 8H218
im 0.07 0.08 0.10 0.10 0.09 0.09
50cm 0.08 0.08 0.07 0.07 0.11 0.1
755 = FHT INEAR ZHBIILPE/PNER 9A 108
im 0.08 0.09 0.06 0.07 0.10 0.10
50cm 0.15 0.16 0.11 0.1 0.10 0.10
756 =& INEAR ZHBILE TN 9A108
im 0.12 0.12 0.11 0.1 0.09 0.10
50cm 0.10 0.1 0.08 0.08 0.09 0.10
757 = FHT INEAR ZHBIIL=F/IER 8F26H
im 0.10 0.1 0.08 0.08 0.09 0.10
50cm 0.10 0.10 0.10 0.10 0.10 0.10
758 = FHT INEAR ZHBIIHAR/DNER 8H26H
im 0.10 0.10 0.09 0.09 0.10 0.1
50cm 0.08 0.08 0.10 0.10 0.09 0.10
759 = FHT INEAR ZHBIILRA /DR 8H 238
im 0.08 0.08 0.10 0.10 0.09 0.09

1/2




RERRE

ERGHRE=2) VT CEREF 18R HER
(SF6E7H16A~9A 18HAAREM)

RF A KE B3 AR (EHRVE)

*u% B (((

EREAER (RF AU

BER F#ﬁ%“”‘ﬁ"‘ﬂﬁ&%ﬂiﬁ*?ﬁé

ERGEEAEE L Sv/h)
= LRE-EEE
. BE | e E 20 gl
No. | TRt K5 SRS T PE | mems M i (bR - AIBDF91E) iz
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BERE | BEGE | EME | BT | BEER | Haee
50cm 0.1 0.12 0.1 0.11 0.1 0.12
760 =1 AR ZHEETIRER 98108
im 0.1 0.12 0.10 0.11 0.1 0.11
50cm 0.08 0.08 0.08 0.08 0.10 0.10
761 =1 R ZHBI=FFER 8H26H
im 0.07 0.07 0.08 0.08 0.10 0.10
50cm 0.08 0.09 0.09 0.10 0.15 0.15
762 =) BEER BAER 8H26H
im 0.09 0.09 0.09 0.09 0.14 0.15
50cm 0.08 0.09 0.07 0.07 = "
763 | == eI BEREI SR 97108 iRt
im 0.08 0.08 0.07 0.07
50cm 0.08 0.08 0.07 0.07 0.08 0.08
764 =1 HE ZEHEMETIHHER 98108
im 0.07 0.07 0.07 0.07 0.08 0.08
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